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Forthe gien Imtrifn.frl]‘.lﬂi]‘lll, the i‘IEgI\tfn.f Lngrn"y-rs h‘itl!‘.r]'lﬂntiﬂnpﬂynmnulf ol be
# 03 0.7 n.a L0
y 0067 0248 0518 0.6812

slect the carmact option Download More Quizzes Files From g weion
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G
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Click to Sove Anewer & Move fo
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MC210203259: ALl HAIDER

MTHB03 - Numerical Analysis (Quiz No.3) Cuiz Start Time: ¢

Question & 2 of 10 { Start time: 04:48:48 PM, 08 February 2023 )

Logrange’s inteérpolation famula i usaed whan the volues of the indapendent varablo oo

Soloct the correct option '

Equally spaced

Mot aqually spacad

Constont

Click 1o Savo Anawor
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- Numerical Analysis (Quiz No.3) Quiz Start Time: 04:48 |

# 3ol 10 ( Start time: D4:47:28 PM, 08 February 2022 )

For the given divide di f ference lable
r y IstD.D 2ndD.D

1 22 04333
4 15 0.2 —0.0380
T 41

the Newton' s divide di f ferenee interpolation formauela will be

& correct option

¥ = f(z) = —0.0380 + (= — 1)(0.4333) + (= — 1){(=z — 4)(2.2)

y=f(x) = —0.0380 + (z — 1)(2.2) + (z — 1}{(z — 4)({0.4333)

y=flz) =22+ (= — 1)(-0.0380) + (z - 1){(z — 4)(0.4333)

y="2) =22+ (- 1){0A4333) + (= — 1)((= — 4)(-0.0380)

Click to Save Andwer & Moy
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MTHEOT - Numetical Analyss (Quiz Ho_3) iz Start Time: 0538 P, 08 February 2032

Question & 8 o110 { Start thme: 05:41:27 #u, DB February 2023 ) Total marks: |

Which of the following method oon be wsed for nterpolation for the given values of © and g7
= 03 o7 (k]
¥ D67 0248 0518

BRI =

Hesrtons misnpoloton bormido

Heston's backaord ditferance formuio

Newtoave forword difarence fanmula i
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MC210203259: AL HAIDER

MTHE03 - Numerlcal Analysis (Quiz No.3) Quiz Start Time: 04:4i

Question & 10l 10 ( Start time: 04:48:05 PM, 08 February 7022 )

+Whit will be the value of firet order divided difterance {15 Hor the folawing dotox0iGy2 16

Salect the correct option -
-

CHek 1o Sove Ardiwer & Ma
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Analysis (Quiz No.3) 2

Quiz Stc

B1et10 ( start time: 06:32:01 PM, 06 February 2022)

For the given data points (1, 3), (2,0), and (3,15), the zero — order divide di f feren
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MTHB0T - Numetical Analysis (Quiz #o_3) iz Start Time: 0538 P, 08 February 2032

Question # § of 10 { Start time: 05:a1:a7 P, 08 Febeunry 2023 | Fotal markes: |

Given tha loliowing doeo a3 By 4 0K 3] con be found by ues ls]

Select the correct option

Herwton's boc bamoid diffesence nberpolobon, oo

NEAEevE IGPATET ETarsnsS Fanpoiatan loemLss

| tograng e s intsrpolobon oo

CHOR D Lo AnEsar & WA 1D P CHaeation

Download More Quizzes Files From

VUAnswer.com
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| MTHEO] - Numerical Analyss (Quiz w3 Quiz Start Time: D5:38 Pu, 08 February 2022

Question # 4 of 10 { start time: 05:40:57 P, O February 2011 ) ool markes: |

In Logrorge’s interpoladion, for the given fiva poinds e con epresent B funceon [ES] bfa:pnr,-r\-nmdaf dagrea

select the correct optlon

Ciiok o Gove Answear & bovs D Feesd Qrussban




5:44 & .0 5l
(O @ vulms.vu.edu.pk/Quiz/Q (4]

MTHB0T - Numetical Analyss (Quiz ko_3) iz Start Time: 0538 P, 08 February 2032

Question £ 8 of 10 { s1ert time: 05:44:00 Pa, 08 February 2023 ) Totol markes: |

For the given data points (2, 5), (4,7), and (6,8}, the frst — order divide di f ferenoe ssitl be

select the correct option

CHOR D Gores Anasar & WA 1D Pt Caeation

11
O
A
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MCZ10200645: MUHAMMAD SHEHZAD Ti Il'I.

MTHB0T - Numetical Analysis (Quiz #o_3) Quiz Start Time: D5:38 Pu, 08 February 2022

Question £ 1 of 10 | s1mrt tirme: 05:40:0 i, 08 Februory 1023 ) ool Markes: |

For the given dota paints (4, 45), (5, 104], and (0, 190), the first — order divido di § ference will he

e [ i |

B2

| 50

CHOR D G AnEsar & WA 1D pae CHaeanion

= O <
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MTHB0T - Numetical Analysis (Quiz #o_3) iz Start Time: 0538 P, 08 February 2032

Question & 2 af 10 { St time: 05:3%:00 #, 00 Februoory 2032 ) ool Markes: |

if thera are [n+2) yefuesof ¥ cormesponoing o [r+2} vohses of &, than we con represent tha functicn ) by 0 polynomal of degroe

Download More Quizzes Files From
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MTHB0T - Numetical Analyss (Quiz ko_3) iz Start Time: 0538 P, 08 February 2032

question & 8 of 10 { stort time: 05:27-28 Pa. 08 February 2021 ) Totol markes: |

For the given data points (2, 5], (4,7}, and (§,9), the aero — order divide dif ferenee wll be

select the correct option

CHOR D G AnEsar & WA 1D pae CHaeanion

11
O
A
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question & B of 10 [ svart tirve: 06:36:001 pa, 06 February 2022 )

=] P i
H furt l.'I||lI b e |'|||I||| 1 a en dhe uven |'.I||'|I|II |',!I I rerence fnome

15tD. 0 IndD. D} JedD. D

1 0.4 .25 n.037s LRI EIE]
1 .0 .4

1.7 .4
T 23

select the eorreet aption I
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MTHB0T - Numetical Analyss (Quiz #o_3) iz Start Time: 0538 Fu, 08 February 2032

Question #1010 ( start time: DE:18:40 P, 06 Februory 2023 ool markes: |

The firat divide di f ference y|eg, y | con be given as

Select the corroct aption

Al

CHOR D GRS AN £ WA 1D P O aeanion
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THEDZ - Numarical analysis (Quiz Ne.3)

sestion & 5 of 10 | Stort e 05: 3246 PAL O February 2022 )

Forthe given dota poiots (2o ). (2 ). (zag), and

lect the correct aption

Tirme Leﬂl
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THED3 - Numaencal Analyeis (Quiz Moe,3) Quiz Start Time: 05:28 #M, 06 F

seation # 10 of 10 { start time: 05:36:46 Pr. 06 February 2022 )
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1
MTHERI - Numerical Anadysis [Quiz No.3) Quiz Start Tirme: 05:28 P, 06 Febr
question # & of 10 | Stort Srme: 05:36:52 PM, 06 February 2022 ) Tat

Forthe given dota points (1, -3}, (2, 0], and (3, 15], the first — order divide di f ference will b

Select the correct option
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L T M |-_|:_-":- nter !:.:_‘:::':'i-_'-l formulo is used when the values of the independent varioble are

Select the correct option

Morne

| Not squally spaced

= e
Equally spacead

onstant
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juestion # 3 of 10 [ svart tirme: 05:31:12 pa, 08 February 2022 )

slect the correct option

Download More Quizzes Files From

VUANnswer.com




= B Ll .al 57% @ 5:33 pm

(3 & vulms.vu.edu.pk/Quiz/Q

question # 6 of 10 { Start time: 05:33:28 PM, 06 February 2022 )

- § i o i i ¥ 3 B = 1T & T 1} d ..'l.. I L= | ¥ ¢ —— | !'. ks
siven the following doto x1 2 & vl 4 10 Volue of 1st order divided difference f|2, 5] is

select the correct option
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MC210201544: KASHIF RAZA mun.._

MTHED] - Humarical Analysis (Quiz ie.3) Quiz Start Time: 05:16 P, 06 February 2022

Quostion & § of 10 { start time: 05:22:57 P, 08 Pebruary 2022 ) Total Morks: |

For the given data potota (1, -3}, (2,0), and (3, 15), the firat — order diorde di [ ference uwall be ‘

Select the correct option
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31020485 BALAN MAGDOD B AN

MTHENY - Humeriool Analysls [ partz W 1:I

Questian & 2 of 10 { Frort tme: 07:10:21 PW, 06 Februory 2022 |

Select the correct option

i Lr"E

Ot Stort Thme: 20238 PR, D6 Feliruary 2iE23

Totol Morks:

comf rder ifivinte di f ference will fe ginen o
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select the correct option
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it any ten doto points are glven the degree of Logrange's interpoloticn polynomial could be
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MTHEO3 - Numerical Analysis (Quiz Na.3) qQuiz Stort Time: 06:19 PM, 06 February 2022

Question # 10 of 10 [ Start time: 08:28:44 PM, 08 February 2022 ) Total Marks: |

# y(x) is cipprosimated by o polynormial P (2) of degres n then the etror s glven by J
select the correct option

@ el=) = wlz) + Pul=)

l{i‘] = [{r! x Pn(;']

elz) =ulz) + Fulz)

ela) = ls) - Pala)

OfO| O

= leCk 10 SOve AnNEWE & MoekE 10 MaX] O LaEhon




| MTHBO3 - Numerical Analysis (Quiz Ne.3) Quit Start Time: 06:19 P, 06 February 2022

Question # 9 of 10 ( Start time: 06:27:43 PM. 06 February 2022) Total Marks: |

For the roen data pulh‘h{l, 12), (8,3.5), and (12,4.1) the divide di f ference fable will be given as

r gy lstD.D 2ndD. D
O 4 22 D335
B 35 015 —0.008 o
12 4.1 r 4
&
*ﬁﬁ
r y lat D'._D 2nd D. D & .‘513:\
O 4 22 0325 -.‘-}'-{ 1{-?.:}
§ 35 015 —0.0219 E-'-L-q_«;,';-"
12 41 -

2 yw 1stD.D IndD.D

O 4 22 03B
B 35 016 ~0.0108
12 41

T v lstb.D IndD. D

O 4 22 0325
& 35 015 ~0.065
12 41

Cleck b Sonee ANEAeT & MOvE 10
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MTHED] - Humarical Analysis (Quiz ie.3) Quiz Start Time: 05:15 P, 06 February 2022
Quostion # ¥0 of 10 | Start tirme: 05:33:58 P, 06 February 2022 ) Total Marks: |

I ondy twodatu pofnls are Gheen, e formdi fiv Lagrange » inerpolation pedynomial il he ‘

G i e

ix=my) Ix=mph
1 1
P trg 30" oy -l
Ir—xy) x5
¥ = i ¥u L
iy ¥j =gl “-J'rll

x =) Ix = wgh
¥ = flxi
[ LR
—~ [ rg—my)

Download More Quizzes Files From

VUANnswer.com
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MTHEOI - Numerical Analysis (Quiz No.3) quiz start Time: 06:18 PM, 06 February 2022

Question # 6 of 10 ( Start time: 05:24:28 PM, 06 February 2022 ) Totol Marls: |

J

For the given data pﬁhlh l{-l,-ifl_:h [5‘ 1[14]. arnel {ﬂ, 190}1 the first — order divide di f ference will be

Select the correct option

B2

O

53

@)

e

Chck 10 S0ve Anmwer & MOwa 1D NexT Question
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MTHBO3 - Numerical Analysis (Quiz No.3) mmhmmuwmi

Question & Bol10 ( start time: 08:28:41 PM, 0B February 2022 ) Total Mariks: |

what will e the vakue of first atder draclod difference 10 /for the (cdowng datax018y21 5 J

Click o Bowve Anewer £ Mowe o Mox! Quostion




MTHBOI - Humerical Analysis (Guiz No.3) Quiz Start Time: 06:19 PM. 06 February 2022

Question # 7 of 10 ( start time: 06:25:29 P, 06 February 2022 ) Total Marks: |

Given the following doto w0 14 72 1 4 value of first order divided difference y]oa]s J

R ===

O

Click to Bove Answer & Move Lo Neaxl Qusstion




MTHE03 - Numerical Analysis (Quiz No.3) Quiz Start Time: 06:19 PM, 08 February 2022

Question # 5 of 10 ( start time: 06:23:06 PM. 06 February 2022) Total Marks: )

Given the following dota x0 14 B 1718 16 Value of st order divided difference 48] s J

S e Download More Quizzes Files Fro

VUANnswer.com

@

C ik 16 Sowve Armvear & Move 1o Nert Gusstion
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MTHEO3 - Numerical Analysis (Quiz Na.3) Quiz Start Time: 06:19 PM, 06 February 2022

Question # 3ol 10  start time: 06:22:09 PM. 06 February 2012 ) Total Marks: |

|

For the given data points (2. 0.3), (4,1), and (6, 1.2) the divide di f ference table will be given as

select the correct option

r y lsDD WdD.D
O 2 03 —0.0625

4 1 1N | 0.35

6 12

r v s D IndD. D
O 203 0.1

4 1 00625 035

6 12

+ gy lstDD IndD. D
O 2 03 —0.0626

4 1 0.35 0.1

6 12

r y 1stD.D 2ndD D
O 2 03 035

i 1 (IN | —0.0625 X

6 L2

zlkcke to Bove Answer & Mose B0 e Guostion




MTHEO3 - Numerical Analysis (Quiz Na.3) qQuiz Start Time: 06:19 PM, 06 February 2022

question # 2of 10 { Start time: 08:20:22 PM, 08 February 2022) Toltal Marks: |

|

Forthe given data points (2, 5), (4,7), and [6,9], the zero — order divide di f ference will be

Cleck 1o Sove Andwes & Moree 10 Maxl JUeRon




MTHEOI - Numerical Analysis (Quiz No.3) Quiz Start Time: 06:35 PM, 06 February 2022

Question # 10110  start tme: 06:35:07 PM, 06 February 2022 ) Totol Marks: |

J

For the grven divide differ ence inlle
¥ y imD.D IndD.D

1 22 0431
4 15 02 =0,0080
T 41

the Newton s divide difference lnterpolation formila will be

Select the correct option
O ¥ = fl) =22 « [x - 1N - 0.0380) + (x - THix —4$N0.4333)
O ¥ = fley s - 03RS « {x - INDAIID + dx - INix - $H22)

¥ = flx) = 2.2 = (x - IN0A33T) « {x = IMLx = AN - 0.0389)

O

O ¥=flad = - 00388 « ix - IN2.20 + i - INx - 4H0.4333)

Chck to Sove Anpeer & Mowve to Next Question
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MC210200757: ABBAS RAZA “m']"hn
MTHB03 = Numerical Analysis (Quiz No.3) Quiz Start Tirme: 06:35 PM, 06 February 2022
Question # 10 of 10 ( start time: DB:44:57 P, 06 February 2022 ) Total Marks: 1
For the given data points (4, 1.3), (8, 1.5), and (12, 1.9) the divide di f ference table will be given as
select the correct option
lood Math Equations
T y lstD. D 2IndD. D
(_j 4 13 0.1
=5 § L5 0.0062 0.05
12 1.8 |
T v 1lstD. D 2ndD. D
( "J 4 13 0.1
bt § 15 035 0.0062
12 1.9
F v 1stD.D 2ndD. D
() 4 13 00062
= § 15 0.1 0.05
12 - 1.9
T v 1lstD.D 2ndD. D
| 4 L1 D05
- 8 15 0.1 0.0062
12 1.9

Click to Save Answer & Move 1o Next Question




MTHED3 - Numerical Analysis (Quiz No,3) Quiz Start Time: 05:18 PM, 05 February 2022 |

question # 10010 { start time: D6:18:34 PM. 08 February 2022 ) Total Marks: |

LOgrange’s intarpolation formulo = uwed whan the volues of the Indepentent voroble are

Select the correct option

Download More Quizzes Files From

Constant

O VUAnswer.com

ot equally spoacod

Eqjunilly spoced

Click 1o Sove Anewer & KMove 1o Nexd Question
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MC210200757: ABBAS RAZA Time Laft
Download More Quizzes Files Fromtn

MTHB03 = Numerical Analysis (Quiz No.3) Quiz Start Time: 06:35 PM, 06 February 2022

Question & 5 of 10 { start time: 06:39:46 PM, Mmeymnswer com Total Marks: |

In Lograngs's interpolation, for novolues of v conesponding to nvalues of x, we con represent the function f (x) by o polynomiol of degres

Click to Save Answer & Move to Next Question




6:43 PM ot st

(O & vulms.vu.edu.pk/Quiz/Q () 3
MC210200757: ABEAS RAZA Time Left
MTHB03 = Numerical Analysis (Quiz No.3) Quiz Start Tirme: 06:35 PM, 06 February 2022
Question # 9 of 10 ( Start time: 08:43:47 PM, 06 February 2022 ) Total Marks: 1

Ifonly two data points are given, the formula for Lagrange s interpolation polyromial will be

select the correct option

Q ix—xg) Oe-xy)
¥=fx= W“ "Wl

O (x-x) xr—x,)

¥=fx = &, gt [y - a

r-—~,| x-x) (B ]
\_s ¥R e P g
N (g —xg) Uxg — g
@ —

w70 a0

Click to Save Answer & Move to Next Question
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MC210200757: ABBAS RAZA tlm].ehn

MTHB03 = Numerical Analysis (Quiz No.3) Quiz Start Tirme: 06:35 PM, 06 February 2022

Question # 8 of 10 ( start time: 06:42:23 PM, 06 February 2022 ) Total Marks: 1

The first divide di f ference p’l.r", Eu ] can be given as

select the correct option
e 8 reload math Equations
& Aw
@) =
£
{

S Vi '
\_J T
Y
Q
CI WL~

x| =T

Download More Quizzes Files From

VUANnswer.com
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MC210200757: ABEAS RAZA thn'LghE

MTHB03 = Numerical Analysis (Quiz No.3) Quiz Start Tirme: 06:35 PM, 06 February 2022

Question # 6 of 10 ( start time: 06:40:49 PM, 06 February 2022 ) Total Marks: 1

For the given four date points, the degreeaf Lagrange's interpolation polynomial cauld be
z 03 0.7 0.8 1.0
v 0067 D248 0518 0.6512

select the correct option =
o lj Reload Math Equats

three
five

O
four

U
&y

)

Click to Save Anewer & Mova to Next Question
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MC210200757: ABBAS RAZA

MTHB03 - Numerical Analysis {Quiz No.3)

Quiz Start Tirme: 06:35 PM, 06 February 2022

Question # 7 of 10 ( start time: 06:4%:3% PM, 0B February 2022)

Total Marks:

Differantiol operotor in terms of forsord difference opsrator is given by

select the correct option f:i Relood Math Equation

O bl [ A2 Al At aS

\ T AN T TR T

- AL AT Al AS

L) 8=t ¥ Tt et

h[ 2 3 4 3

I/_\I

-

®

/e Answer & Move to Next Qu




MTHED] = Numerical

Analysis (Quiz Mo.3)
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Question # 2 of 10 ( Start time: 06:36:34 PM, 06 Febiruary 2002 )

Total Marks: |

Ifany three dota pointsare given, the formeh for Logrange s interpolstion polynomial will be

select the correct option

oy =2 My - )

Oy —xghlx; — x5}

(ag - xllxg —xy)

Y T Y0 g a7 - -x,) O

= x M= wy)

(x =~ xgMx - x)

(x = mydle —xy)

3= i, "L“—'n_":rh' Ory =2, 'Ii'r’ll' (xy =~ Tyl = 'I:)l'

= x, Mr = ¥y}

(& = Xgln = xy)

% = gydix = xy )

y=pa= (TP T T TIE ol Rl TP T L T T o

® @ e

L =2y ix - 1)

[ = kgl = %)

1 = wgllx = x,)

y=

N

0% [xy - kg, - XF

Ty - wgllx; - g, 2

Click o Sove Angwes & Lows o NBxt Quastiarn




MTHEOI - Numerical Analysis (Quiz No.3) Quiz start Time: 06:36 Py, 06 February 2022

Question #0110  start trme: 06:35:07 PM, 06 February 2022 ) Totol Marlks: |
For the grven divide difference inlde J
¥ y imD.D IndD.D
1 12 o431
4 15 02 e
7 o4

the Newiton s divide difference lnterpolation forimila will be

Select the correct option

O ¥ = fix) =232 « (x - 1IN - 00360) + (x - THIx - $W0.4333)

[

’
OBRS « O ~ IM0.4733) « dx - THix - 4H22)

.'!i.' = flx) = 2.2 « [x - IN0A33T) « [ = DWLx =N - 0.0380)

@)

O ¥ =l = - 00388 « ix - IW2.20 4 ix - INLx - 4W0.4333)

rvreay B Mowve to Next O
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MTHEO3 - Numerical Analysis (Quiz Na.3) Quiz Start Time: 06:35 PM, 06 February 2022

Question # 3 of 10 [ start time: 06:38:07 PM. 06 February 2022 ) Total Marks: |

" Lagange's ntarpolation for the given ive points we con represent the function | (k) by o polynomiol of degres ]




